Chapter 7 Answer Key



1. The impact drove the condyloid process of her mandible into the mandibular fossa and fractured her temporal bone, creating an opening from which one would be able to see from the auditory canal into the throat. 

2. Some people lack parietal foramina, a frontal sinus, and condylar canals; some have a persistent metopic suture; and people vary in the number of lumbar vertebrae.

3. In T12, the superior articular processes face posteriorly to meet the anterior-facing processes of T11, and the inferior articular processes face laterally like those of the lumbar vertebrae. In L1, however, the superior articular processes face medially and the inferior articular processes face laterally. 

4. The muscles of eye movement would be paralyzed because the controlling nerves would be unable to reach them.
5. The parietal bone articulates with the occipital, temporal, sphenoid, and frontal bones (see fig. 7.4a). The zygomatic bone articulates with the temporal and frontal bones and the maxilla (see the same figure). The temporal bone articulates with the occipital, parietal, sphenoid, and zygomatic bones and the mandible. The ethmoid bone articulates with the frontal bone, nasal bones, sphenoid bone, and vomer. (See figures 7.4 and 7.5.)

